Lesson Practice 4A Lesson Practice 4B
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Systematic Review 4D
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12+6 =2 spoiled apples
12-2=10 good apples
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Systematic Review 4E
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Application and Enrichment 4G
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CLxNO

11.
12.

3(7) =21

18 + 3 =21 The answers agree.

42 +5)=4(7) =28
4(2) + 4(5) =8+ 20 =28
210+ 6)=2(16) = 32
2(10) +2(6)=20+12 =32
6(2 +3)=6(5)=30
6(2)+6(3)=12+18=30
78+4)=7(012) =84

7(8) + 7(4) =56 + 28 = 84
4(2) + 4(B) =8 + 4B

8(A) + 8(4) = 8A + 32

2(X) + 2(2) = 2X + 2Z

7(A) + 7(2Y) = 7A + 14Y
2(3) + 2(5B) = 2(3 + 5B)
5(3) + 5(7X) = 5(3 + 7X)
9(1) + 9(8Y) = 9(1 + 8Y)
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